Answers

Red
1) Disadvantage
2) Advantage
3) Advantage
4) Disadvantage

Yellow
1) Disadvantage because friction would stop the fidget spinner spinning.
2) Advantage because the shoes need to grip the pavement/stop us falling over.
3) Advantage because it allows the bike to stop safely.
4) Disadvantage because it would make it difficult to slide.

Green
1) Disadvantage because friction would stop the fidget spinner spinning.
2) Advantage because the shoes need to grip the pavement/stop us falling over.
3) Advantage because it allows the bike to stop safely.
4) Disadvantage because it would make it difficult to slide.

Any examples of their own - check to see if correct.



